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program Medical_checkup
implicit none
real(8) :: height, weight, BMI
integer :: number, i
character :: mark

open(10, file="list.dat")
open(11, file="BMI.dat")

read(10, *) number
do i = 1, number

mark = ""

read(10, *) height, weight

BMI = weight / ((height/100) ** 2)

if (BMI < 18.5 .OR. 25 <= BMI) then

mark = "*"

endif

write(11, '(f5.1,2X,f5.2,2X,A,F4.1)"') height, weight, mark, BMI
end do

close(10)
close(11)
stop
end program
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1*3=
2%3=
3*3=
4*3=12
5%3=15
6*3=18
7*%3=21
8%3=24
9%3=27

1*4= 4
2¥4= 8
3*¥4=12
4*4=16
5%4=20
6*4=24
7*%4=28
8%4=32
9%*4=36

1*7= 7
2*%7=14
3*¥7=21
4*7=28
5%7=35
6*7=42
7*7=49
8*7=56
9%*7=63
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program samplel 1
implicit none
integer :: i, j

doi=1, 9
do j =1, 9
write(*, '(il,a,il,a,i2,1x)"')&
i: B j: =, i *J
end do
end do
stop

end program
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program samplel_ 2
implicit none
integer :: i

doi=1,9

write(*, '9(11,a,11
kg
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end do
stop
end program




ERIETEMED writeX(C
advance='NO’
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program samplel 3

implicit none
integer :: i, j

4

'(il,a,il,a,i2,1x)"', advance='NO') &

J:=:i*j

1*¥4= 4 1*%5= 5
2*¥4= 8 2*5=10
3*¥4=12 3*5=15
4*4=16 4*5=20
5%4=20 5*5=25
6*4=24 6*5=30
7*%4=28 7%*5=35
8%4=32 8*5=40
9%4=36 9*5=45

end program
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1*6= 6
2%6=12
3*%6=18
4*6=24
5*6=30
6*6=36
7*6=42
8*%6=48
9*6=54

1*7= 7
2*7=14
3*%7=21
4*7=28
5*%7=35
6*7=42
7*7=49
8*7=56
9%7=63

1*8= 8
2*8=16
3*%8=24
4*8=32
5*8=40
6*%8=48
7*%8=56
8*%8=64
9%*8=72

1*%9= 9
2*%9=18
3%9=27
4*%9=36
5*%9=45
6%9=54
7%9=63
8%9=72
9%9=81



write XX DERDE(TENMT DITIT
write(*, '(Z=X)', advance='N0') REFRAS

ERX(FHBE TSR0
B LA (ICRRSNDI TS —
sample.f99(8): error #6568: ADVANCE, SIZE. X/=(Z EOR
BEFOZOFERIIEINTI .

write(*, *, advance='NO') &

A>IN1IUE sample.foo0 TEERTUEXULE (O—F 1),
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